Entrance Exam 12 - Module Eight Natural Laws & Winter Driving
Name _______________________________________      Date: _______________ 
Score: _________________
1. The gripping action that keeps a tire from slipping on the roadway is called

a. Kinetic energy
b. Friction
c. Gravity
d. Inertia
2. When braking and turning, you use

a. All four wheels of traction
b. Only the outside edge of your tires
c. Split traction
d. Additional traction
3. If a tire is under-inflated, the only part that grips the road well is the

a. Center of the tire tread
b. Outside edges of the tire tread
c. Tire cords
d. Wear bar
4. You drive through a curve at a speed higher than the posted speed, your vehicle

a. Can add traction as needed to stay on the road
b. Needs more traction to stay on the road
c. Will adjust to the traction available
d. Will stay on the road
5. Three factors that determine force of impact are

a. Speed, weight, and distance between impact and stopping
b. Traction, brakes and steering
c. Tire tread, visibility, and four-wheel drive
d. Shock absorbers, tire pressure, and roadway surface
6. How many collisions occur when a vehicle hits a solid object?

a. Two – Vehicle hits object & object hit another object
b. Zero – No collisions occur
c. Three – Vehicle hit object, body impacts vehicle, organs impact body structure  
d. Three – Vehicle hits object, object hit another object, body hits restraints
7. When visibility is reduced, the first action to take is to
a. Maintain a steady speed

b. Stop

c. Slow down

d. Move closer to the windshield

8. Because of its energy of motion, when a vehicle’s speed doubles, the vehicle needs about

a. Twice the distance to stop

b. Half the distance to stop

c. One-fourth the distance to stop

d. Four times the distance to stop

9. The force that pulls all things to earth is called what?

10. Where is the standard rear pivot point located on a vehicle?  
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